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Approach to the Study of Production and Operations
W) dada g 2l S L (Sad g (Function Approach) daadagll Jase — Y,
Jaslii g dabaiall
grnaill Ak - |
Alpall ddpka 5 -2
gVl e 5kl d4a 5 -3
aranaill ddpla 5 -4
CAPREN RENEPR
Basall Ak -6
Jedas 5 (System Approach) ellasll Jise — Lails

Judl (il s Skl 5 3 g¥) o) gall Jia (ZWY) alse) (In puts)oSiaadd) -]
(<ay)
J 3

235 oalid) sl Gllee Jia (dwul\ <blee) (Process) Gllaad) 22

, mlaty | Qg | S Gleas QL‘) (Out puts) Ola Al -3
(A 38 il il

ot Lgaadinl (Say Gileslaa g clily a5 (Feedback) 4sSall 433230 -4
Llaall

(Aalalls, ddall) (System boundary) plaill asas -5

2 ia 5 AY) Cailda gl 3 gan Jiad Dlie dualalls

Aalafal) Al Jadd g 7Y 5 (53 guall ddda g 3 gas

BB 5 el Je G AN Ll Jalii s Ralall 5 aa)) Ll
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(Decision to focus) S il o < yaill 1 -3

Omal A8 ) Ll 2

—: g8 silaaasilyiatl ady gl @ ydaall 51,1541 Lol
(Scheduling decision) 4 saall ) & -]

(Product design decision) z siill axea’ ) 5 -2
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(Maintenance decisions) 4wl &l ) 3 -4
(Warehousing decisions ) ¢ sl < 5l -5
(Quality decisions) 325l )) 5 -6

(H.R.M decisions) 4 ydall 3 ) sall ) A -7
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(Capacity decisions) 4kl ) 5 -10
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Maintgnancg and Reliability
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B Al aal @il ALS g Laldll g olinl daa sall Ll e s Jlie
Jba (150,000) Aball ciladd caiad o e dulis Dlua (e i

A 388 et ) e s (280,000) 2 sl Jasll Alua 24K Cadaa
CAaaud) JMA GUaal)

Jlaall Lgd Caaa Al je i) 2ae P &Oldaall 2ae &

2 0 1

3 1 2

4 2 3

1 3 4

2 4 5

& G Ol ae § (ARG | adlal) ) Addaiall Juzdl uiibuall o) 1 glladll
3 i giall Caall<al)

Jhaall Led Ciaa Al el JS 4 ghall Al & jatins ;dal)

P x 4wl Al <
0 0X0,167 0,167 12+2 1

0,25 1 X0,25 0,25 12+3 2
0,666 2 X 0,333 0,333 12+4 3
0,249 3 X 0,083 0,083 12+1 4
0,668 4 X 0,167 0,167 122 5
1,833 %100 | e 12 | & sansl
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274950 = 1,833 X 150,000 = duadlall &byl
430,000 = 150,000 + 280,000 = 45 5} Aluall
155050 = 274950 — 430,000 = <\l & 5 al

3308 1) Aalall e Jaadl Lua Sl Ailuall 3]
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0.835 5X0,167 0,167 24-+4 6
2.626 %100 | e 24 | & saxall
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(Reliability successive)d.algiell dadgeoll *

O Lt | VRN 1 IR E

> R=LaXLbXLCX....Ln <

IS Al garall il 5 Al gia illane R ) (po (35S LY Laglad aa) 1l

S1 S2 S3 S4
0,80 0,90 0,65 0,70
a ) e Gildasall pas A g2a 2a
:Jall

R=LaXLbXLcX.....Ln
R=0,80 X 0,90 X 0,65 X 0,70 = 3.05

11=0,80 ‘ 12=0,90 ‘ 13=0,65 ‘ 14= 0,70 3.05

S1 S2 S3 S4

( Reliability parallel ) da3lguiell dageoll *

SN Gl Cadial g
Rh=1-[(1-La)(1-Lb)(1-Lc)....01—Ln)]

Sabadl JUiall i (e
Rh=1-[(1-La)(1-Lb)(1-Lc)....1-Ln)]
Rh=1-[(1-0,80)(1-0,90)(1-0,65) (1-0,70) ]

Rh =1- [(0.20)(0.10)(0.35)(0.30)]
Rh =1- 0,0021 = 0.9979
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L 58 ()5S lanall aaead dgliia 44 gaall CilS 1) Ll
Rh=1-[(1 — Ln)"]
rdadl (5558 (0.80) (5sbast Led sma day HY) Clasall apas cilS 12
Rh=1-[(1 — 0.80)*] =1-[(0.20)*]= 1- 0.0016 = 0.998
( Mixed reliability)(diaall) dalisell ddgeell *
S ¢ Al Cuuiad
Rmix =La[1- (1- Lb) (1- Lc)] X Ld
| idasall o) Caale 131 - Ui
Sh =0.90
52005 e s Sl
Se =0.65
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Rmix =La[1- (1- Lb) (1- Lc)] X Ld
Rumix =0.70[1- (1- 0.90) (1- 0.95)( 1- 0.65) ] X 0.85
Rmix =0.70[1- (0.10) (0.05)( 0.35) ] X 0.85

Rmix =0.70[1- (0,00175) ] X 0.85=0.70[0.998 ] X 0.85 = 0.593

Sa

La=0.70

Availability : deba bid

G giall (e (e s2al plai 8 deaA) B 8 g
A shsall gl dpalidl &) gl

Traditional Availability dssald:ill daLioll :l

1 gguild

Engineering Up Time

TA=

Engineering Up Time+ Engineering Down Time

AUl ) Sl g sl unigl) 2 1)
il avigh) < gl 4 gacbiadll  jutiell i gl
A (o ; e

=4 18l Apalial)
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2 Ja-ld
daliall dad -] =4 )4 gall p2e

HYJMJM\M“%L}Q@MJL(I)&‘J\U\H&A

Geometry Availability :dsusiall daLioll Lail

1 jo-ild
GA = M.T.T.F (<leldy)
' M.T.T.F (&leldu)+ M.T.T.R (<lelul)
=il Ll
zabaill 8 g Jass gt L)) 8 g Jass g

(Mean Time To Failure) J&dll <d g dav sia : =i MLT.T.F
(Mean Time To Repair) gobaill Cd g o s S MT.T.R :

2 Jg-ild
1 . "
= LAl Uaaty ! &l
M.T.T.F (o) ¢ el

Laias 4883 (15) 38500 (e baill 48 5 S Aalla )1 Gasdlall (558 aldai 1] Jlia
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AN daliall a2e & W -2

1 -:da
TA= .E.Up Time '
E.Up Ttime+ E.Down Time
TA= ——= 2=0,78
15+4 19
0,22 =0,78 — 1 = 4aliall pxe -2
4. ............................................................... .>

Eddlcu(z)c_dmdmdwmjjgwsﬂ\ J\.z.».lh.a.u\ ?Lk" 2 Il
As(81)

Ol Al )83 ae dpaigll dpaliall -] s sllall
drudigll Apalial) axe 2

g Uadi¥) & je 22e 3

Glele I Gl gl Jgad o1 i Al
M.T.T.F =81 X 365 X 24 = 709560

M.T.T.R =24l
_ M.T.T.F (“lelidy)
G.A= M.T.T.F (“\eluy)+ M.T.T.R (<leluly)
G A= _709560 _ 709560 _ 0.99997
709560+2 709562
0,00003 = 0,99997 -1 = daudigl) dpaliall aae 2
1 ol 8 e lEy] o )
MTTF ) Aaill 8 e Uadiy) & je dae -3
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ele 72 =4delu 24 X ol 3

G sadl ()5S Dl (A ) ) D) 8 ac ] 1)
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Z U dalail £ 63)

Types of production

Aagaal) ZUy) dakaiy) dgatany) udy) dakil
Modern production systems Traditional production
Z5ikall (bl ) ol daland) g3 Al
product production system Process production system
\ 4 \ 4

ciabal) LY A3 Ry gl gl allai

Workshop production

Batch Production system
system

Gyl ) S adding allai ga g o )
e o i) LY oo pludy cﬁ?amgemeuﬁj
Bsay o Ka ciady o cilarig , A U ) Jia Baalg baag

ALl A2l 1) acd 4o giia g "‘3--4*““‘5:2"“”*&

! | !

B_stua Cilady A gla Cilady By Cilada

Small batches Medium Large batches
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: doapaiti pdloi—2
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: dalashisi adlo -3
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(Break-even am,angs'Ls ) Jolndd | alaid Juwdald

(duofally) Jslasill dhads gan Jualas : gl

B.EP.Q= Price Per uniljrli V.C.Per unit
O
(price per unit) _: baad ol Ban sl ja *
(Variable cost per unit) -: 3asl sl sas 5l 3 jaxial) 4alSl) *
(F.C) (Fixed costs) -2 AU Cayllal) *

el Caulls caly dpalal) Ciliall Jlae & Jand il ciladaiall saa) ; JLe

g )l (12) (s sbed 3o ol 3aa 11 5 jasiall callsall 5 )lins (300,00) 45Ul
¢ anl) ae Jaladll Adadi aas g8 L, Ly (16) B2 5l 3as )

:Jall
F.C=30000 ** V.C=12 **P=16
BEPQ — F.C — 30000 — 30000 = 7500 "BJAJ
P-V.C 16 — 12 4
Sty g
Jaladl) ddaas
Sy RN
16

FC

7500 YL sl
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T.R=T.C
PXQ=F.C+(V.CXQ)
16 Q =30000 + 12Q
16Q — 12Q = 30000

4Q = 30000

30000
Q= 4

= 7500 32a g

30000
0,25

= 120000 Lt
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